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Question 1:
YWhat would be the electron dot structure of carbon dioxide which has t
ormula CO, ?
Answer:

Question 2:

hat would be electron dot structure of sulphur which is made up of
£ight atoms of sulphur.
nswer:

Electron dot structure of Structure of Sg
sulphur molecule, Sg molecule
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Question 1 : How many structural isomers can you draw for pentane ™
Answer:
i[hree. these are n-pentane. iso-pentane and neo-pentane.
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: n-pentane Iso-pentane Neo-pentane

~

Ruestion 2:

What are the two properties of carbon which lead to the huge number
carbon compounds we see around us ?

\nNswer:

i) Tetravalency
Jii) Catenation.

suestion 3:
\What will be the formula and electron dot structure of cyclopentane ?
nswer:
he molecular formula of cyclopentane is Cs Hyj .
sThe electron dot structure of cyclopentane is given on the next page.

Structure of cyclopentane Electron dot structure of cyclopentane
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Question 4: Draw the structures for the following compounds :
3i) Ethanoic acid
(i) Bromopentane
Jiii) Butanone
tiv) Hexanal
nswer:
[i) Ethanoic acid (CH3;COOH)
H
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" i) Bromopentane (CsHq4Br)
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{iii) Butanone (CH3; — CH, — COCHy)
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(iv) Hexanal (CsH;;CHO)
H H H H
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Structural isomers for bromopentane: There are three structural isome
sor bromopentane depending on the position of Br at carbon 1, 2, 3.
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2-Bromopentane
H H
—(1:—(E—H
MM

3-Bromopentane
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(i) CHz; — CHz; — Br

H H H H
| | | i
(i) H—C—C—C—C—C=C—H
I I | l
H H H H

\ EXERCISES:

Question 1:Ethane, with the molecular formula C,Hg has
[a) 6 covalent bonds
{b) 7 covalent bonds
{c) 8 covalent bonds
d) 9 covalent bonds
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Ic) Ketdne.

na uestion 3:While cooking, if the bottom of the vessel is getting blackeng
on the outside, it means that
a) the food is not cooked completely.

{b) the fuel is not burning completely.

c) the fuel is wet.
(d) the fuel is burning completely.

Answer:

b) The fuel is not burning completely.

Question 4:Explain the nature of the covalent bond using the bond
Tformation in CH3CI.

Answer:
Lovalent bond is formed by sharing of electrons so that the combining
atoms complete their outermost shell.

\ CH5Cl: C =6, H =1 and Cl = 17 And their electronic configuration is
-24,H-1andCl-2,8,7

H
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o[ hree hydrogen atoms complete their shells by sharing three electrons
fone electron each) of carbon atom.

<Chlorine completes its outer shell by sharing its one out of seven
electrons with one electron of carbon atom.

hus carbon atom shares all its four electrons with three hydrogen atorfis
and one of chlorine atom and completes its outermost shell and single s.
covalent bonds are formed in CH;Cl.

p,;;p)p,,;p;p,;p;;&ﬁ)p,p,;)p,;p;;p;;p;p;p;gr;p,p

uestion 5: Draw the electron dot structures for
a) ethanoic acid

b

{b) propanone
(c) H.S
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2 nswer.

~

(a) Ethanoic acid:

(d) Fluorine (F3)

Question 6:What is a homologous series ? Explain with an example.
Answer:

Homologous series : A homologous series is a group of organic
compounds having similar structures and similar chemical properties in
which the successive compounds differ by -CH, group.

ePoeeecoeeeeooo0oe00ePcOOOOPOOOOOOROEOEOEOEOEOREOOEOCEOEORD

Characteristics of homologous series :
{) All members of a homologous series can be represented by the same
general formula. For example, the general formula of the homologous :\
series of alkanes is CnHans2, in Which ‘n’ denotes number of carbon ande.
hydrogen atoms in one molecule of alkane.
i) Any two adjacent homologues differ by one carbon atom and two
hydrogen atoms in their molecular formulae.
liii) The difference in the molecular masses of any two adjacent
nomologues is 14u.
{iv) All the compounds of a homologous series show similar chemical
Properties.
v) The members of a homologous series show a gradual change in th
b hysncal properties with increase in molecular mass.

,Qp,p;;,;pp;p;
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'dr‘ekarhﬁlé ‘g‘ehéré ormula of th‘e‘h‘o?n‘ofoQOUs‘séfiés‘o“f alkanes is ‘e
18 nHa2ns2, in Which ‘n’ denotes number of carbon atoms in one molecule Qf

alkane. Following are the first five members of the homologous series oﬁ
lkanes (general formula C,H,,.»). .

LCarbon and its compounds give a large amount of heat per unit weight ::

b

and are therefore, used as fuels for most applications.
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